H & 0l & AHS B Ml A

02449 F=Z 1 3 LUts =Xt
A sEBL
3 sgelo A53E & SXXE
el sA2el2g X (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
s 59,986,022 56,510,078 3,475,944
= 4,328,432 4,012,000 316,432
) 112,967 112,967 0
< 10,995,292 10,802,793 192,499
Al 44,549,331 41,582,318 2,9%7,013
sgeole A=54g & SN 14,611,692 13,782,668 829,024
= 289,512 0 289,512
Jl 112,967 112,967 0
< 4,562,092 4,339,593 172,499
Al 9,647,121 9,280,108 367,013
sXizelzd K& 487,482 487,482 0
2l 112,967 112,967 0
Al 374,515 374,515 0
sX2c|2S X 28,000 28,000 0
201 er2 3| 26,000 20,000 6,000
01 AtR2t2l] 26,000 20,000 6,000
OsX2edR =& A2t 6,000 0 6,000
202 04l 2,000 8,000 26,000
01 =LH0i 2,000 8,000 26,000
OsXZelge =80l 2,000 8,000 26,000
seI=X X 10,222,772 9,393,748 829,024
= 289,512 0 289,512
< 3,231,592 3,059,093 172,49
Al 6,701,668 6,334,655 367,013
sSENSHENAMEH 2SR (EX) 300,000 0 300,000
= 150,000 0 150,000
< 45,000 0 45,000
Al 105,000 0 105,000
307 2IZto1 ™ 300,000 0 300,000
= 150,000 0 150,000
< 45,000 0 45,000
Al 105,000 0 105,000
02 2B YAIHE £ 300,000 0 300,000
0202435 sZENEQAX ALY 300,000 0 300,000
= 150,000 0 150,000
< 45,000 0 45,000
Al 105,000 0 105,000
SZENEUHAZLEH 2SXE 120,000 220,000 100,000
307 2I2t01 120,000 220,000 100,000
02 2B YAIHE A 120,000 220,000 100,000
OelEXIdde 29 X 120,000 220,000 100,000
sUsE ZAXIMX XA (SIS (HEHIX 28,500 28,500 0
)




A s31
M sgoo ~A53g & SN
el sgel=x A EER=E)
SN - B - SA(B) - NIRAY - BES 0 & ol B o HIRS2
[ 11,400 11,401 A
Al 17,100 17,099 1
201 er23| 4,870 4,870 0
< 1,948 1,949 AT
Al 2,922 2,921 1
2 s5=34l 865 865 0
Osg=sE AR KZAE (58 3
=g) 865 865 0
& 346 347 AT
Al 519 518 1
238 AHE22X 22 KA (EX) 100,000 0 100,000
= 50,000 0 50,000
=S 15,000 0 15,000
Al 35,000 0 35,000
307 @120l & 100,000 0 100,000
= 50,000 0 50,000
[ 15,000 0 15,000
Al 35,000 0 35,000
02 2B YAIHE A 100,000 0 100,000
OUHE sZEUASBIHEEH(SIE) XZAY 100,000 0 100,000
= 50,000 0 50,000
[ 15,000 0 15,000
Al 35,000 0 35,000
SE2EX JIsAt HdEXE ALY 500,000 0 500,000
= 75,000 0 75,000
(= 112,500 0 112,500
Al 312,500 0 312,500
401 AIZHIZ 20 500,000 0 500,000
= 75,000 0 75,000
[ 112,500 0 112,500
Al 312,500 0 312,500
01 Al&HI 496,400 0 496,400
SY22 A JIssAH A8 K2
500,000,000 *99. 28% 496,400 0 496,400
= 75,000 0 75,000
< 112,500 0 112,500
Al 308,900 0 308,900
03 Al CHYI 3,600 0 3,600
OsgE2Z2XA JIsA 28 X2
500,000,000&*0.72% 3,600 0 3,600
SEEESMHAXR(SHIISSXH) 29,024 0 29,024
= 14,512 0 14,512
Al 14,512 0 14,512
307 21201 & 29,024 0 29,024




A s31
M sgoo ~A53g & SN
el sgel=x A EER=E)
SA - B - S9I(300) - HIRAY - BAS 0fl v ol 3 o RS2
= 14,512 0 14,512
Al 14,512 0 14,512
02 2IZHB A E £ 29,024 0 29,024
OsglIEsX# 29,024 0 29,024
= 14,512 0 14,512
Al 14,512 0 14,512
SYMAD|BEH 41,345,230 38,698,310 2,646,920
= 4,038,920 4,012,000 26,920
& 6,433,200 6,413,200 20,000
Al 30,873,110 28,273,110 2,600,000
FclAle & FAl2 20,431,118 18,787,118 1,644,000
& 2,777,000 2,777,000 0
Al 17,654,118 16,010,118 1,644,000
FCclAld JHE = 924,000 824,000 100,000
201 =3 524,000 424,000 100,000
01 At22telt] 303,000 203,000 100,000
OZti+=2 =& &bl Sx= 300,000 200,000 100,000
Eti=2 U3t 13,979,000 12,435,000 1,544,000
401 AIZHIZ 20 13,979,000 12,435,000 1,544,000
01 Al&H| 13,950,000 12,406,000 1,544,000
O=HMADEH S =2)AIE FHIAIY 1,544,000 0 1,544,000
23S 99,000 0 99,000
-Z=E012(293-1) S+ SAt 23,000 0 23,000
-SH0I2(108) Eli=2 SAt 12,000 0 12,000
-SHOI2(116) B2 SA 28,000 0 28,000
-=E012(384-1) SHi==2 SAt 6,000 0 6,000
-ZE012(824-8) SHi+=2 SAt 5,000 0 5,000
-AH0ES(1150-7) EHi=Z SAt 25,000 0 25,000
F=HH 114,000 0 114,000
-EXYE =2 ZUISA 64,000 0 64,000
—&F ) gH 223A 30,000 0 30,000
S5 Y= =2 ZHISA 20,000 0 20,000
- ==X 115,000 0 115,000
-MEOS (&2l 1865-13) 8 - =2 FHi|
SAt 50,000 0 50,000
-2/ 20t2(&=2l 1058) === ZHISAt 15,000 0 15,000
-NE0tS (=2l 518) =2 HHISA 10,000 0 10,000
-=X |FEO0S =2 ZHISA 20,000 0 20,000
-=X &0I2 =2 EHISA 20,000 0 20,000
= 158,500 0 158,500
-SAUOIE 8= & Sti+=2 ZHISA 40,000 0 40,000
-SAUDIS €= Stli==2 ZHISA 15,000 0 15,000




2N SHY
D SMAD|BIEA
ool felAle Y B2 (chol: &2l
SA-ZE - SA(FAH) - NISAY - BES Oi &F2H N3 A Hws2
-OIHOIS B YS SBHISEZ ZUIBA 19,000 0 19,000
~2E0I2 AKX A2 BH4E BHIZ
AF 14,500 0 14,500
~AJI0F2 S 42 HHIZAF 14,000 0 14,000
~SHUOIS 2B SH4E ZHIZA 23,000 0 23,000
—RS0IS Y2 SHH+E JUIZA 17,000 0 17,000
-REOIS 22YE US SHH4E ZYIZ
AF 16,000 0 16,000
=M E 66,000 0 66,000
~LS0I2 ME BIS2 FHIZA 51,000 0 51,000
—BEOS LYST AP A2 FHIBA 15,000 0 15,000
27X 58,000 0 58,000
“RE0IS BHAR 2A 30,000 0 30,000
DHEOIS Hi42 ZA 28,000 0 28,000
WEILS 120,000 0 120,000
-AHA20IS SRR 9IS 4R Fl 18,000 0 18,000
-AHEOES SIS B2 =l 16,000 0 16,000
~AHSOIS MSRIS 42 F 16,000 0 16,000
CHY MEDIS BAAMD SIS 42 B
Hl 30,000 0 30,000
-CH2 CHRIOHS =RB HH42 J| 20,000 0 20,000
T4 AFEIDIS 0ISBE ¥ 42 JY| 20,000 0 20,000
CHAHE 108,500 0 108,500
~SX0I23 42 FHIBA 53,500 0 53,500
—2H0IZ WLSY SR FUIZA 50,000 0 50,000
- AHOHEH 83,000 0 83,000
“EE OIS BIS2FHI2A 22,000 0 22,000
“EE US 42 FHIBA 36,000 0 36,000
SAOH S8 AEE RS B4R FHIBA 30,000 0 30,000
=hiled 107,500 0 107,500
~H0IE ZDHE BUH42 FHISA 15,000 0 15,000
~HEOIS NS SHA2 ZHISBA 15,000 0 15,000
CiS0t2 JSS SH4E ZHIZA 27,500 0 27,500
~AHR| AMOIS a2 HHI2A 30,000 0 30,000
-OIS0IZ YT SHHEZ ZHITBA 20,000 0 20,000
S 55,000 0 55,000
SAHEOIS RS 2K HHA2 BHIBA 28,000 0 28,000
“AHEOIS SIS 3K A2 BHIBA 12,000 0 12,000
~PH OHHOE SHISZ FHITBA 15,000 0 15,000
MrsB 70,500 0 70,500
CHA PEEY SUSR HHIDA 11,000 0 11,000
“2E RIS 842 FHIBA 29,500 0 29,500
A EPE ISR FHIZA 30,000 0 30,000
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2L s8I
I sydLDetxy
el e8|l (Gt H2)
SA - BB - SRA(3) - MRAY - BES 0l Ao ol E o timE=FT
-OHAOLS QIERY A= =2 JHISA 15,000 0 15,000
AHLHEH 66,000 0 66,000
-otellE €S S8 P& ZTSA 66,000 0 66,000
235 32,000 0 32,000
NS =2 HISA 17,000 0 17,000
302 2 ZY3A 15,000 0 15,000
gus 25,000 0 25,000
-LH= LWS0tE od0l=2 =2 HESA 25,000 0 25,000
ESS 57,000 0 57,000
- A0S BRIECIAE W 88 ZHISAH 37,000 0 37,000
-LM0E S22 JUISA 20,000 0 20,000
- 2EM 45,000 0 45,000
-BE Its HE s2 ZE3A 10,000 0 10,000
-2 S 2XF 52 ZESA 15,000 0 15,000
2R USH A 52 SEYSA 20,000 0 20,000
s 20,000 0 20,000
-0l8 Sites A5 243 20,000 0 20,000
FHSPAE(EX) 26,920 0 26,920
= 26,920 0 26,920
401 AlZHIL 2 CHY] 26,920 0 26,920
= 26,920 0 26,920
01 AlZHl 26,920 0 26,920
O SPAIL (ZS0t2 FHEHIAY) 26,920 0 26,920
= 26,920 0 26,920




